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(—)EAEM L tBERENEN R BEAEMFFIR -
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#£(—) SIAREB

EXE BEXREM |EXEW| il
=E nROCK) meter m
EE N (fF%) | kilogram kg
B # second S
Bt T ampere A
I E FLE Kelvin K
ME =E mole mol
HE &t candela cd
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#(=) SlgBr B
BEE | WEhEN | ENEW | T R
SPE A& (JIE) | radian rad
VA= AVALS steradian ST
(Z)mpesEny  EEHENEN  TOHERBMHESMA  fIIIRENE
& (AR B) > TTHEEMER _EERBELRER
B (a4tE o BT - AR/ EIABMNAEE
MWERAEMEHER  RE)B—EFRWEHEN -
(=) SIEBWENL
e Lsoh Buzi EYEy ;W
[ FEALR square meter m?
BE AL cubic meter m’
HE LSR/® meter per second m/s
MEE NS N meper  secosq squared | m/s’
BE=R ] hertz Hz» s
BE | /AR kilogram per cubic meter | kg/m’
SR %E/E/i?’ L joule per kilogram kelvin j'kg'K
A 48 newton N mkgs?
7] e &7 < pascal Pa ' m'kgs?
Ih g8 BEEH | joule J o mtkgs?
e B walt W mikgs?
EE E coulomb C As
EE REF volt V m¥kgs> A
EH (5 ohm Q- mikgs?A?
ER E farad Frm¥kg'stAl
ER = 7 henry H: m>kgs™A?
R e/ oR volt per meter V/m > mkgs?A”
T8 & Z15 weber Wb » m*kgs2A
% B i A7 tesla T kgsA™
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B A, BROERE TIHELE > B4, B 2BGRWM <
(—A+B=-24—B)
(CYA+B=24>HA—B=0
(=) |4+ B|=14 — B]
‘(—)A+B=-24—B) > 34=B
A+ B=24 A—B=0
(—) { B — { _ - A=B
A—B=0 A—-B=0
(=)|4+ Bl= |4 — B|
(As+ B.)*+(A,+ B,)*+ (4, + B.)*
=(A4:— B:)*+ (4,— B,)*+ (4.~ B,)?
#A:B:+AB,+ A,B,=0—~4-B=0 > B4, BEHEE
- A, BREE  HP88AA:=32 A4,=15, B,=05, B,= 45
(—)KA, BEALZRA -
(OYE—@AEC (KRR S) BERA KEx yDE -
RRINBOESBIER © 4,= 4] cos 6 »

Ay,=|A]| sin § » L =tan ¢
A 1
{—)tan § = L = _ = 26°40/
(—) tan A2 6 6°40
tan g = == =9 = 83°40’
¢ B ¢

RAEREBRIHKAER ¢ —0=757
(T)ECEERA  QIC-A=CA,+ C,d,=0

{ 3.2C,+ 1.6C,= 0
Ci+ Ci=5"=25

B 1B C, =224 C,= -445
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F-BHA=3i+3—2% B=-i—4+2%k > C=2+2+k K-

%
=

“A=5Si+4—6k> B=-2i+2+3k > C=4i+3+2k
(—KR=A-B+ CZRERK-
(DR 8z B2 KA -

R REL 2 2SR cos” T

(—)R=A—B+C=(5+2+4i+(@4—2+3)
+(-6—3+ 2k
=1li+5— 7k
IR = /112 + 52+ (-7)* =172

—)§ = cos™ —— = 120°
(=) =cos” 7

~5&BBa X b=i(a,b,— a.by) +j(a:b.— asb:) + k(a,b,— a,b,)
i j ok
=ia, ay, 4a
by by a.
@ X b= (azi + ayj + a.k) X (byd + byj + b.k)
= a.byi X i+ achyi Xj+abi X k+abjXi
+ a,byj Xj+aybiX k+ab.kXi
+ a,bk X j+ab.kXk
= j(ayb,— a;by) +jla:b.— a.b,) + k(a.by,— ayby)
i j ok
=14y ay 4a;

by b, b:

(—)A-(BXC) -
()A4-B+C) -
(=)AX B+C) -
H(=)BXC = [(-9H1)— )@+ [(D(O)
= (=D + [(-DR) — (-H(2)]k
= —-8i + 5 + 6k
4+ (BXC) = 3i+3—2k) - (-8 + 5 + 6k)
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